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1 2 3 4 5 6 7 8

−2

−1

1

2

3

an = −2 + 5
n



obere Schranke

Ein s ∈ R derart, dass für alle n ∈ N gilt: s ≥ an.

1 2 3 4 5 6 7 8

1

2

3 an = 2− 1
n

s = 2 oder größer

1 2 3 4 5 6 7 8−1

1

2

an = (−1)n

s = 1 oder größer
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obere Schranke

Ein s ∈ R derart, dass für alle n ∈ N gilt: s ≥ an.

1 2 3 4 5 6 7 8

1

2

3 an = 2− 1
n

s = 2 oder größer
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